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C: 1 b e & # Lt L3 H
e 162 ™ 3,124,000 M | wf0 2 £ 9 A 10 H
L332 0O 3,760,000 M | k0 3 £ 3 A 31 H
s 3 R 014 1 2,716,000 M1 | =f1 3 % 9 A 10 H
1,190 M 3,228 000 M | wf1 4 & 3 A 31 H
PN 8§71 2,204,000 M | R0 4 # 9 A 10 H
1,083 0O 2,966,000 M | s 5 F 3 A 31 H
Bin & T | 828 O 2,008,000 M | wf0 5 &# 9 A 10 H
1,032 M 2,540,000 M | wf1 6 4 3 H 31 H
ol 6 FE 804 M 2,212,000 M | sf0 6 % 9 A 10 H
T HIGEE DR EMARTL (R
3=y 50,000 H X § O = 400, 000 M
SHERE 10,000 M X 3 1= 350,000 M
1 R 2,000 M X %1 0 = 1,922,000 M
mf 2,272,000 M
= EFNMNEOF E KK B X
S I P~ e & # ke B H
Tk ) e 213 1 2,210,000 M | *Fpk 2 # 9 A 10 H
329 O 2,705,000 M | Pk 3 # 3 A 31 H
A W 274 1 2,381,000 M | %0 3 4 9 H 10 H
4 1 2,975,000 M | wf1 4 4 3 H 31 H
SR 1 EE 207 o 1,365,000 M | wf1 4 4 9 H 10 H
267 1 2,312,837 M | wf1 5 & 3 H 31 H
&% 5 EE 191 0 1,937, 8271 M | wF0 5 & 9 H 10 H
241 O 2,724,827 M | wh 6 & 3 H 31 H
w6 FE 103 I 1,366,000 M | &/ 6 #£ 9 A 10 H
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3 000M =T 63 [
3, 000 & 5 000M =T 23 0O
5, 000k 10, 000M =T a8 N
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